= AH O
N = 0 & AF & E Al A
20108 &= 20l a LESIH L JIEFSEIH 8 EL ~ -8 EY
2A: HAIISY
H: Jts=1 &X
o 8 =sXs (e
- _ _ bSRE Y=
2N -3 - c2(3H) - NEME - HES 0] AFCH @;OH Hns
(P~ 13,923,546 11,956,357 1,967, 189
= 7,950,079
D 1,257
Al 4,542,722
2 1,429,488
=X s8 5,566,308 5,018,338 547,970
= 2,991,811
Al 1,857,325
. 717,172
(PSP 896,795 639,567 257,228
= 406,929
Al 296,326
2 193,540
NHHSISHE NS AA 500 500 0
201 dBr24 | 500 500 0
01 AF222|H] 500 500 0
ONgns 22 200,000< 200
O tguns A=Y 300,000< 300
H& A X 6,740 17,575 A 10,835
201 LBt AH| 2,590 4,130 A 1,540
03 SHAIEHHI 2,590 4,130 A 1,540
O0&Uz &840 80,0002 30 A 240
OoodUz cIZx M 2,0002! *3000H 600
OJIEr2g =] 350,000 350
O&SHEos £33 AU
700,000 1 CH 700
OAEX2AIR S =35 XA
700,000& = 1CH 700
206 X 2H| 2,500 2,500 0
01 24l 2,500 2,500 0
O&sI| NAss ZEEIELZI Mz
2,500,000 2,500
301 Lt A2 1,650 10,945 A9,295
10 HAIAHIBAZ 1,650 10,945 AN9,295
O0AEUE 2At=E 200,000 1™ 200
OWAla Ss2AEHR 24
300,000& x2& 600
O0A&ESHE =g &K B4
10,000 50H 500
OS2 SAIS 233 I B4
10,000 35 350
EMEHAZ A 184,500 135,000 49,500
301 2EtEAZ 184,500 135,000 49,500




A 0EIED

Zy: Jjz=x S

@ HEsXSE (&2 &
SH-EH . O3 - MBAY - BAS 0fl AF 08 Soe HRZ2
01 M2 E=H2 184,500 135,000 49,500
O EMOot 72,000
oAl 600,000& x80H 48,000
o233 X3 300,000& x80H 24,000
O AR Ot 112,500
opH 3,000,000& *25H 75,000
o233 X3 1,500,000& x25H 37,500
SHE2IIE IHEHY=R - WFH N 98,026 94,000 4,026
= 78,421
Al 19,605
301 et A= 98,026 94,000 4,026
= 78,421
Al 19,605
01 MIE2EE=H3 98,026 94,000 4,026
ONASE - 2ADIEXNE(OlSYSH & D
M SHH|) 98,026,000& 98,026
= 78,421
Al 19,605
HASR2EXNEXNS(FouM NsSH|) 32,299 25,000 7,299
Al 32,299
301 2EtE A3 32,299 25,000 7,299
Al 32,299
01 MlIEEE G2 32,299 25,000 7,299
OMASR - EXIIEXI(ZE20M WEH])
32,299,000& 32,299
Al 32,299
HASREXNIIEXN (=SSN st2EH|) 6,489 6,076 413
Al 6,489
301 2EEAZ 6,489 6,076 413
Al 6,489
01 MHIEEE=GH2 6,489 6,076 413
OMASR - EXIIEXS (=S &=2EH|)
6,489,000 6,489
Al 6,489
SOH0RIlcidES L XA 352,900 268,360 84,540
= 247,030
Al 105,870
307 QIz2to|H 352,900 268,360 84,540
= 247,030
Al 105,870
02 SI2ZtZAE X 352,900 268,360 84,540
OSOHOHIISH A RIJAAIE 2ZHl K&
352,900,000& 352,900
= 247,030
Al 105,870




A 0EIED

Zy: Jjz=x S

ol oH=XE EEE-E)
SN C(BH) - NRAY - HES 0l &k o Soe HlmE2
COXtH &4-=06t3 49,000 20,326 28,674

Al 49,000
301 LEtEAZ 49,000 20,326 28,674
Al 49,000
01 ARIEEE x5S 49,000 20,326 28,674
OSMIH E&XE3 22,000,000& 22,000
Al 22,000
OATHOIZ XtH S&XAS 27,000,000& 27,000
Al 27,000
= AEAYR L OIS 59,606 69,930 A10,304
2 29,803
Al 29,803
307 QI2to| A 59,606 69,930 A10,324
= 29,803
Al 29,803
05 QIZtREF 59,606 69,930 210,324
O EZEHAEAL 2 59,606,000 59,606
= 29,803
Al 29,803
HEZZOAd ESAE SALL HRM&H XA 5,400 1,800 3,600
Al 5,400
307 212H0|H 5,400 1,800 3,600
Al 5,400
02 GI2tAAEX 5,400 1,800 3,600
OWAZSTHA ESAE SAIX MM & L
A& 5,400,000& 5,400
Al 5,400
NEEH H4Z2H JdizlES & ME LAY 9,535 0 9,535
= 6,675
Al 2,860
307 gI2told 9,535 0 9,535
= 6,675
Al 2,860
05 CIZtRAEIZ 9,535 0 9,535
OJt8 - 4= Hlofolg ¥ HEHXAS
9,535,000& 9,535
= 6,675
Al 2,860
TAAE SXNEE AMEE 1,800 0 1,800
203 HRF&H| 1,800 0 1,800
03 AIMFXAHE =&Y 1,800 0 1,800
OXAE 2XNSE ABEX
2,000, 000& *90% 1,800
SOHOHIIGHAL XI&AAIE JIsE22 90,000 0 90,000
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S =S (S &)
_ _ _ Muo
SN-EHH . SH(BH) - HPAY - BE2 O A+ 24 il i~ o Rz
= 45,000
Al 45,000
307 2I2t0IH 90,000 0 90,000
=2 45,000
Al 45,000
VETEPEES 90,000 0 90,000
O SOHOHTIGHA XIRAIE Jls2 A
90,000, 0002 90,000
= 45,000
Al 45,000
BELFE o 3,805,520 3,862,743 57,223
= 2,143,080
Al 1,176,004
2 486,436
CEWE! 56,620 11,060 45,560
201 Ygreg| 1,120 560 560
01 AtRZelt| 1,120 560 560
OESSARE HA&LY 70,0002 *8% *23] 1,120
307 2120/ H 10,500 10,500 0
02 PIHBAEE 10,500 10,500 0
OESAA vy X2 10,500,000 10,500
308 X+XI IS Ol & 45,000 0 45,000
06 REIIZ0ICHSE T2 45,000 0 45,000
OXEZE M2 SAWE PAH X
45,000,008 45,000
IS 282 X 1,600,000 1,834,352 £234,352
= 960,000
Al 448,000
2 192,000
301 YBrEAS 1,600,000 1,834,352 234,352
=2 960,000
Al 448,000
2 192,000
01 AtSI2EE 253 1,600,000 1,834,352 234,352
O IS 282 X 1,600,000,000%! 1,600,000
=2 960,000
Al 448,000
2 192,000
OISHIOF 2SR K& 300,000 384,800 84,800
=2 180,000
Al 84,000
2 36,000
301 YerBAZ 300,000 384,800 84,800
= 180,000
Al 84,000
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0l%
IS

T 36,000

01 A2 2E X +6= 300,000 384,800 284,800
tEss XI& 300,000,000 300,000

180,000
84,000
36,000

4 =W

0ot RaEEs A 190,000 75,000 115,000
114,000
53,200
22,800

4 =W

301 Let2a= 190,000 75,000 115,000
114,000
53,200
22,800

4 = H

01 A2I2EH+06= 190,000 75,000 115,000
OZor 2oEs2 X2 190,000, 000& 190,000
114,000

53,200
22,800

4 = 4

SOl 222 K& 70,000 87,960 217,960
= 42,000
Al 19,600
T 8,400

301 LEtEas 70,000 87,960 217,960
42,000
19,600
8,400

4 =4

01 MaIE2EH63 70,000 87,960 A17,960
OFHId 2528 N&E 70,000,000& 70,000
42,000

19,600
8,400

4 =W

EMolE M4 252 X 24,000 10,250 13,750
Al 24,000

301 Let2a= 24,000 10,250 13,750
Al 24,000

01 MaI2EH =0 24,000 10,250 13,750
OEMol= XH 282 K& 24,000,000 24,000
Al 24,000

SFAIEEALA 21244 X2 828,000 884,781 A56,781
= 496,800
Al 231,840
T 99,360

307 GI12t0ld 828,000 884,781 A56,781
= 496,800
Al 231,840
- 99,360
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=TT
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SNBSS - HRAY - BHES Aboy o HIRZE2
02 QIAAMBE 828,000 884,781 56,781
OBSALSAR 9 828,000,00024 828,000
= 496,800
Al 231,840
3 99,360
HEXANL SEX R 1,700 11,300 400
Al 11,700
307 2120l H 11,700 11,300 400
Al 11,700
02 QIAANBE 11,700 11,300 400
OHEXE BRAIL 3,600, 0002 3,600
Al 3,600
OFSNY BSAIL 3,900, 0002 3,900
Al 3,900
OFEN BSAL S5 AL
4,200,0002 4,200
Al 4,200
DIIESAIE DXRTH XY 8,400 9,400 A1,000
=2 5,040
Al 2,352
2 1,008
307 212+0IH 8,400 9,400 A 1,000
= 5,040
Al 2,352
2 1,008
02 QIAAMBE 8,400 9,400 A 1,000
ORINBFAIE DD 7Y 8,400, 0002 8,400
= 5,040
Al 2,352
3 1,008
DIt JIHAIL BSXR 75,200 76,050 A850
Al 75,200
307 2I2t0IH 75,200 76,050 850
Al 75,200
02 DIHMBE 75,200 76,050 850
ORINBRAIL SESS U 258 AY|
4,000,0002 4,000
Al 4,000
ONERRAIL BES B AL
400,000 400
Al 400
ORIZIDIHAIL SAR 60,000,0002 60,000
Al 60,000
OYONE HELSE L0 10,800,000 10,800
Al 10,800
ZOUHLERAL G2 2,400 2,400 0
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A1,760

2=A4 010

0
=)
O
00
5o
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o
Y
40
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50,400
21,600

16,000

164,000

180,000
108,000
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16,000
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o

4= 1

180,000

180,000
108,000
50,400
21,600

16,000
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o
S
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0B
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0
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>
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Al
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65,000

65,000

Al

65,000
65,000

65,000

65,000,000&
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65,000
65,000
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380,000
228,000
106,400

45,600

380,000
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307 2I2tol & 380,000 0 380,000
= 228,000
Al 106,400
T 45,600
02 2I2tda2x 380,000 0 380,000
O JleeEsg N 380,000,000& 380,000
= 228,000
Al 106,400
T 45,600
SHEOIIt R 222 K& 13,000 0 13,000
= 7,800
Al 3,640
T 1,560
301 et as 13,000 0 13,000
= 7,800
Al 3,640
- 1,560
01 MaIEEH=0l= 13,000 0 13,000
O o+ 252 A& 13,000,000& 13,000
= 7,800
Al 3,640
- 1,560
Ots=X gy 863,993 516,028 347,965
= 441,802
Al 384,995
- 37,196
Ots=S XX 6,138 6,680 AB542
201 LEH2HH| 1,138 1,680 N542
01 At 2t2lbl 1,120 1,680 A 560
O0tssSAA2s 4= 70,0003 +8E*22 1,120
02 2323l 18 0 18
OO0i2l0I=0lH Zoliti&(Zx2) S Ml
6,000 *37H & 18
401 Al&HIZL=ROHYI 5,000 5,000 0
01 Al&HI 5,000 0 5,000
O0elol=0lE =021+ &Hl 5,000,000& 5,000
g2e Ots s4X& 56,000 56,000 0
Al 42,000
T 14,000
301 et as 56,000 56,000 0
Al 42,000
T 14,000
01 A2 A0z 56,000 56,000 0
OEY ots Sa X 56,000, 000& 56,000
Al 42,000
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SN

&=

B Jj==x =8
CHl: OIE=X B A CLEL
SA - HE . CR(B]H) - NBEAIY - HA2 A} OH &EIE Ho=2t
- = Tl (2 ° . (= (=3 =5 0:”/|l|,% Lsa
Al 1,200
01 MIEEE= 1,200 0 1,200
=org 1,200,000& 1,200
Al 1,200
Ots2g X3 10,700 10,700 0
= 7,490
Al 3,210
301 LuB A 10,700 10,700 0
2 7,490
Al 3,210
01 A2 E 10,700 10,700 0
O0tsLE 10,700,000& 10,700
= 7,490
Al 3,210
DOHUA0IS YELES X 15,763 15,773 A0
= 11,034
Al 4,729
301 et 4 15,763 0 15,763
= 11,034
Al 4,729
01 AIEE 15,763 0 15,763
ZOH s=2X= NA
15,763,000& 15,763
= 11,034
Al 4,729
A0S L= 5,067 5,067 0
= 3,547
Al 1,520
301 LurB A 5,067 0 5,067
= 3,547
Al 1,520
01 AlRI2EEE 2563 5,067 0 5,067
Ogdots 5,067,000& 5,067
= 3,547
Al 1,520
Qo JIHSIEOIE MRIXIZ X 1,890 0 1,890
2 1,323
Al 567
301 Pt 1,890 0 1,890
= 1,323
Al 567
01 AlRIE2EEE 2563 1,890 0 1,890
O IIBLAOIS MRAXIZ N
1,890,000& 1,890
= 1,323
Al 567
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[Rapm
121

40,000

28,000
12,000

70,000

307 2120l &

= W

40,000

28,000
12,000

70,000

/30,000

02 2lt3 a2

40,000,000&

= W

40,000

40,000

28,000
12,000

70,000

30,000

Al

16,500
16,500

16,274

226

Al

16,500
16,500

16,274

226

16,500,000&
Al

16,500

16,500
16,500

16,274

226

= W

115,236

57,618
57,618

74,160

41,076

307 2120l A

115,236

57,618
57,618

74,160

41,076

02 iztdat

115,236,000

= W

115,236

115,236

57,618
57,618

74,160

41,076

= W

24,720

17,304
7,416

24,720

307 2120l &

= W

24,720

17,304
7,416

24,720

H Ots=X A X3

24,720,000&

24,720

24,720

17,304
7,416

24,720

38,715

15,486
23,229

38,684

31

307 2120l &

38,715

15,486
23,229

38,684

31
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X XH .
S Tt

ok

Bl
=E=x =A

Ors=X &y

SN C(BH) - NRAY - HES Aro L=t HlmE2
Oil &k o8
02 Slz2+tA 4 38,715 38,684 31
O8s 22X 38,715,000& 38,715
=2 15,486
Al 23,229
orsgg X 20,600 20,000 600
Al 20,600
307 212t01& 20,600 20,000 600
Al 20,600
02 Slz2+A 4 20,600 20,000 600
Oots2E Sgx
20,600, 000& 20,600
Al 20,600
CEHAEEAMY 300,000 0 300,000
= 300,000
101 14| 59,865 0 59,865
= 59,865
04 JIZtHIZ22 a2+ 59,865 0 59,865
OCHAHESHAA(RSFL+E S X&)
59,865,000& 59,865
= 59,865
201 et d 134,902 0 134,902
= 134,902
01 AtR2t2 130,702 0 130,702
Ooed, =X 107,000, 000& 107,000
= 107,000
OSEAEE 21,542,000& 21,542
= 21,542
OegA 2,160,000& 2,160
= 2,160
02 223 4,200 0 4,200
OEEgA 4,200,000& 4,200
= 4,200
202 (4 HI 5,040 0 5,040
= 5,040
01 =LHOA b 5,040 0 5,040
OEEAE 5,040,000& 5,040
= 5,040
307 212t01& 75,000 0 75,000
= 75,000
02 glz2+A 4 75,000 0 75,000
O=dD & 75,000,000& 75,000
= 75,000
401 AEHIL ] 20,000 0 20,000
= 20,000




D HEIEN
COEE=A sd
O E=EA g

SN C(BH) - NRAY - HES Aro L=t HlmE2
Ol &k

01 Al&HI 20,000 0 20,000
OSEAEENH cl24E 20,000, 000& 20,000
= 20,000

405 AHoHESHI 5,193 0 5,193
= 5,193

01 XL 2SZFHSHI 5,193 0 5,193
O222YHI(E=2Z H2) 5,193,000& 5,193
= 5,193

Eel NS 8,162,933 6,677,119 1,485,814
= 4,941,548
Al 2,668,134
- 553,251

OHENOl LEAS BE 5,836,623 5,098,644 737,979
= 4,447,481
Al 1,033, 156
- 355,986

POEL QN K& 56,300 47,800 8,500
Al 56,300

301 LEEAZ 56,300 47,800 8,500
Al 56,300

01 AlSIEEE=0l3 56,300 47,800 8,500
ORAE - OIMI XI&A 56,300,000& 56,300
Al 56,300

=gz 5,777,312 5,033,856 743,456
2 4,447,481
Al 976,856
- 352,975

301 LEtBA = 5,777,312 5,033,856 743,456
= 4,447 481
Al 976,856
- 352,975

01 AlRI2EEE 2563 5,777,312 5,033,856 743,456
(O ES=Re b= 5,777,312,000& 5,777,312
= 4,447,481
Al 976,856
- 352,975

MAS oMM H2EEE N 3,011 2,588 423

301 LLBAS 3,011 2,588 423

01 ARIEEE+56l= 3,011 2,588 423
OMASLMU A2ZEEE X3 3,011
o113 2,0003 458« 12& 1,080
=23 2,380 208+ 122 572
=35 3,280 x10E x12& 3%
o435 4,020 208+ 12& 965
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N Lo EA
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A} OH

SN CR(EH) - NRAY - BES

20
B
2

AAYGID 2EPEs LENE 2T 834,295 222,715 611,580
2 142,937
Al 681,858
2 9,500

MASTHIHE Ol Al AN E 39,600 36,000 3,600
Al 39,600

307 212H0| 39,600 36,000 3,600
Al 39,600

02 QIHAMRE 39,600 36,000 3,600
OMASTHIH=O AlAF HHE 39,600,000 39,600
Al 39,600

224 223 46,000 46,000 0
Al 46,000

307 212+0| A 46,000 46,000 0
Al 46,000

02 LAAMEE 46,000 46,000 0
OZ2AY 2RITAAY 46,000,0002 46,000
Al 46,000

COISXAL W - 2 9,500 23,000 ~13,500

401 AlEHI2 S 9,500 23,000 ~13,500

01 Al 9,500 23,000 £13,500
OVZol® i - &4(2-304) 9,500,000 9,500

COIEE AHlA AlY 204,195 117,715 86,480
2 142,937
Al 61,258

307 212+0| 204,195 117,715 86,480
=2 142,937
Al 61,258

05 BI2reIEt3 204,195 117,715 86,480
OLQIESE MHlA At 204,195, 0002 204,195
=2 142,937
Al 61,258

P LoSNn 22 AY 370,000 0 370,000
Al 370,000

401 AlEHI2L SO 370,000 0 370,000
Al 370,000

01 Al&H| 370,000 0 370,000
OAZZA S 370,000, 0002 370,000
Al 370,000

col=ne NS 165,000 0 165,000
Al 165,000

401 AlEHI% SO 165,000 0 165,000
Al 165,000




2A: A=
HM: LoEX=A

el AYSHD EEYE LEME 9F (e
SA-BH.C(BH) - HRAY - B O AF o8 glggi; Rz
01 Al&| 165,000 0 165,000
OzQ=XZ K24 165,000, 0002 165,000
Al 165,000
OB D EIIH L SMEIE T4 1,492,015 1,355,760 136,255
= 351,130
Al 953, 120
2 187,765
A2 N 7,240 7,940 AT00
201 Yer2 Yyl 4,040 4,040 0
03 A2 | 4,040 4,040 0
O 100K 22 A 2,240
o840 80,0002 *30H 240
c2YEE 2,000, 0002 2,000
OB AL XHU0H 300,000 *6CH 1,800
301 YBrEAZ 3,200 3,900 AT00
10 BAAEI 24 S 3,200 3,900 AT00
OIS 100H B2 A 2,500
cxFHY Y 300,0002 *4&! 1,200
oAEI TR A 3000008 %1% 300
oRU Z& HIINY 20,0002 *50% 1,000
OwQlole & A 7,00021*100% 700
RTETp DAL= 702,260 525,810 176,450
= 351,130
Al 351,130
307 212+0IH 477,660 320,980 156,680
= 238,830
Al 238,830
02 PIANBAEE 477,660 320,980 156,680
OLolURt2l A (LQIAE =)
477,660,000 477,660
= 238,830
Al 238,830
401 AlAHIL 20| 224,600 196,730 27,870
= 112,300
Al 112,300
01 Al&| 224,600 196,730 27,870
OwQl UXf2IAR (R =B)  224,600,0008 224,600
= 112,300
Al 112,300
colEE 2y 27,400 27,000 400
201 Yer2g| 400 0 400
02 ZZ2Y| 400 0 400
ONSTHE RS o= ZHslbl 400




2A: A=
N Lo EA
-/ -/ [y

4
ol efdotl #II1E &

S YUEBIETRESE (e
_ _ _ Muo
SAN-ZH-SA(FA) - NFAY - BES Off &F oK Ofl At ot HwsZ
oA2 Ma=7 2A&IEl 150,008 x2S 300
CYEES tha BHISY| 50,0008 x2S 100
307 2120l H 27,000 27,000 0
02 QIAAMBE 27,000 27,000 0
OLol =ZXA X & 27,000,0002! 27,000
CoI=N Y 2 428,280 410,480 17,800
Al 306,780
2 121,500
307 212+0IH 428,280 410,480 17,800
Al 306,780
2 121,500
05 QI2t9lEtz 428,280 410,480 17,800
OwQ=x2 29| 405,000,000 405,000
Al 283,500
2 121,500
OwQ=Xa Xel =X+ 23,280,0002 23,280
Al 23,280
22Y 29 N 63,975 52,400 11,575
Al 44,800
2 19,175
307 2120l H 56,000 52,400 3,600
Al 44,800
- 11,200
02 QIAAMBE 56,000 52,400 3,600
OY2Y 2% X2 56,000,002 56,000
Al 44,800
2 11,200
405 XtarE S| 7,975 0 7,975
01 KA SEF S| 7,975 0 7,975
O Z2Y MBAT=)| 2
275,002 %2974 A 7,975
ZNE HRY X2 3,560 3,540 40
Al 580
2 3,000
301 YsrPAS 3,580 3,540 40
Al 580
- 3,000
01 A B X253 3,580 3,540 40
OFHR B2Y X2 3,580, 0002 3,580
Al 580
2 3,000
ARU2F T2 22K XA 18,900 18,000 900
Al 9,450
2 9,450
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307 2I2H0I 8,900 18,000 900
Al 9,450
- 9,450
02 2ItBAE X 18,900 18,000 900
OF=g 23T 22X A
18,900, 000& 18,900
Al 9,450
- 9,450
2L E LAY 20,000 20,000 0
Al 20,000
307 QI2t0IA 20,000 20,000 0
Al 20,000
02 BIHANEX 20,000 20,000 0
OZ2E EdsAY 20,000,000& 20,000
Al 20,000
Lolwa 29 7,200 7,200 0
Al 7,200
307 QI2t0I A 7,200 7,200 0
Al 7,200
02 QIFAE X 7,200 7,200 0
OLnA 29l X 7,200,0002 7,200
Al 7,200
MOt QIS RIALS 211,620 246,652 A35,032
Al 211,620
307 SI2t0I& 211,620 246,652 A 35,032
Al 211,620
02 BlItAAEX 211,620 246,652 A 35,032
OMIt=QAlE XA =SX+= 27,000,000& 27,000
Al 27,000
OMIH= QI =TI A R (C S IS X ME-F2E
3) 12,930,000& 12,930
Al 12,930
OTHOH= QI =X AHRS (B 7 &= 01 = X M E{-JF E = AF
AT} MIE) 52,920,002 52,920
Al 52,920
OMIH= QI =R AR (ZET QSR ME-F2AH2E
) 12,930,000& 12,930
Al 12,930
OMIH= QI =X MY (ZME T QI =X M E -t
SATAME) 52,920,000& 52,920
Al 52,920
O QI =R AY (C ES ST ME-IIE
A TIAME) 52,920,000& 52,920
Al 52,920
F2E HAXEDI EX K& 1,560 0 1,560
Al 1,560
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401 NEHIL 2] 1,560 0 1,560
Al 1,560
01 Al&Hl 1,560 0 1,560
OBEY HAXEI| £X N 1,560,008 1,560
Al 1,560
OtS, E4H 25 84 127,600 179,230 A51,630
= 16,720
p 1,257
Al 17,263
= 92,360
ol E554 3,360 3,990 2630
Yol HEES 3,360 3,990 2630
201 Yer2ey| 3,060 3,690 630
01 At2telt| 3,060 3,690 630
OFAH HE 222 650
oz 3002 %5000 %225 300
oB 40t 10,0002 <20H 200
Yo 5,0002 *3004 150
OHAHES ZAGS Ul 200,002 23| 400
OFAHUZ 23 4,5009! 60 270
Oddel o Ha9te 1,500 *600 % 900
OHAHSAAS BALY 70,0008 #122 «13] 840
301 LeHE A 300 300 0
12 JIEtR A2 300 300 0
OHAURMHZE ADITAHZ 50,0008 +62 300
Yol 23S X 124,240 175,240 A51,000
= 16,720
p 1,257
Al 17,263
= 89,000
¥l 239 & 29 1Y 80,000 80,000 0
307 QI2H0IH 80,000 80,000 0
05 SIRtelerz 80,000 80,000 0
OF2E2359Y 2| 80,000,000 80,000
HAESRAL T2 29 12,000 12,000 0
= 6,000
Al 6,000
307 ©I2t0l™ 12,000 12,000 0
= 6,000
Al 6,000
05 SI2telerz 12,000 12,000 0
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HE: 0ls, 344 25 84
S HAW 2sEs X (25 &2
_ _ SIEN
SH-EH . C(BH) - NRAY - BES O AF o8 il i~ o Hnz2
OF2E +3Ag T2 29
12,000, 0002 2,000
= 6,000
Al 6,000
HAELBAL SHRVE 2 2,000 2,000 0
=2 1,000
Al 1,000
307 QI2H0|H 2,000 2,000 0
= 1,000
Al 1,000
05 BI2tSIEt3 2,000 2,000 0
OFAYE +pAE 299 29
2,000,000 2,000
= 1,000
Al 1,000
HAENCAL XX 19,440 19,440 0
= 9,720
Al 9,720
307 QI2H0|H 19,440 19,440 0
= 9,720
Al 9,720
05 9I2t9IEr3 19,440 19,440 0
OFAY XTA X 19,440, 0002 19,440
= 9,720
Al 9,720
HAUW 2507 T4 9,000 60,000 A51,000
401 Al&HIL 2] 2,000 8,000 26,000
01 Al&H] 2,000 5,000 3,000
OBAE23AY ASKTY| 2,000,0002! 2,000
405 XHAHE SHI 7,000 52,000 45,000
e 7,000 30,000 223,000
OOROIENZ TN 7Y 7,000,000 7,000
SENY HAE XA 1,800 1,800 0
| 1,257
Al 543
01 LB AIZ 1,800 0 1,800
| 1,257
Al 543
NIEEEERSTE 1,800 0 1,800
O SEXHAHTRAY 1,800,000 1,800
| 1,257
Al 543
HHS AL (KIS 46,705 48,405 A1,700
o1z 2| 2,700 3,000 A300
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col: olzi2gy| (cr9l:He)
_ _ _ Muo
SA-E . S(E) - MEAY - BES 01l &4 24 i HIRE
VP EERIEEET 2,700 3,000 A300
203 ¥R =&H| 2,700 3,000 A 300
04 2EANSSHRFAH 2,700 3,000 A 300
ORMNEH2H 250,000& *12& *90% 2,700
Jl=&dl 44,005 45,405 A 1,400
FAMII=3HI 44,005 45,405 A 1,400
201 LEH2HH| 6,565 6,565 0
01 AtE22/Hl 6,565 6,565 0
ORM2E Jl==2Hl 253,000& «13H 3,289
OJlzg R =&l 252,000& «13H 3,276
202 O4dl 37,440 37,440 0
01 SUWHYI 37,440 37,440 0
OJlZ2gf+a ol 240,000 *13F 128 37,440
HREs(HAIIE) 20,000 30,000 210,000
LHEHCHXI & 20,000 30,000 A 10,000
HegdIls &l =4 20,000 30,000 A 10,000
02 JIsdEs 20,000 30,000 A 10,000
01 JI=sd&E=s 20,000 0 20,000
OWdedllz =t =4 20,000, 000& 20,000
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